

POT Florida Department of Transportation

Vendor Ranking

Page 1 of 1

Letting: 05240904

September 04, 2024 2:00

Call Order: 002

Contract: E52D1-R0

District: Di

District 5

PM

Counties: BREVARD, DIST/ST-

Fed Aid No: N/A

Contract Time: 365 CALENDAR DAYS

WIDE, ORANGE, SEMINOLE, VOLUSIA

Project(s): 42914217221 (*)

Contract Desc: Asphalt Repair

Ran	k Vendor	Bid Type	Bid Status	Total Bid	Percent Of Low Bid
1	SPARKS CONCRETE, LLC	Responsive	Winning bid	\$640,200.00	100.00%
2	TURTLE INFRASTRUCTURE PARTNERS, LLC	Responsive	Non-Winning Bid	\$748,500.00	116.92%
3	MASCI GENERAL CONTRACTORS, INC	Responsive	Non-Winning Bid	\$2,722,512.50	425.26%

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.



FDOT

Florida Department of Transportation

Tabulation of Bids

Page 1 of 6

Letting: 05240904 September 04, 2024 **Call Order:** 002 **Contract:** E52D1-R0

District: District 5 Counties: BREVARD, DIST/ST- Fed Aid No: N/A

Contract Time: 365 CALENDAR DAYS

WIDE, ORANGE,
SEMINOLE, VOLUSIA

Project(s): 42914217221 (*)

Contract Descr: Asphalt Repair

FDOT District 5

Proposal ID No.: E52D1

Financial Project No.: 429142-1-72-21

Fiscal Year: 2025

Counties: Volusia, Brevard, Orange, Seminole

Calendar Days: 365

This is a Work Document driven Contract with a budget estimate of \$500,000. The Contract will be awarded at the budget estimate amount. This Contract includes an option for renewal.

Intent:

The work under this Contract consists of asphalt roadway repair on various Department maintained roadways within the Contract limits on an as-needed basis. Work includes milling, resurfacing, and minor pavement markings restoration.

Experience:

For this Contract the Contractor is required to have at least three (3) years of experience in the performance of Asphalt Paving, or the Project Superintendent must have at least three (3) years of like experience as a Superintendent. A Contractor that presently has a certificate of prequalification with the Department in "Hot Plant Mix Bituminous Course" will suffice to meet the above requirements.

Note:

The quantities shown on the Bid Price Proposal are approximate and only represent estimated planned requirements based on historical or specific project needs. The Department does not guarantee any maximum or minimum quantity, any range of quantities, or the exact quantities shown for each bid item. The Departments estimated quantities and the Contractors bid price will be used to calculate a total bid amount. This total bid amount will then be used to determine the low bidder; however, actual payment under the awarded contract will be based on actual quantities completed. For this Contract in which specific sites are not identified at the time of letting, the Engineer will issue a Work Document. Work Documents will identify the location, description, amount of work to be accomplished, and the number of calendar days to complete the work.

Line No / Item ID Item Description	Alternate	Quantity Units	(1) SPARKS CO	ONCRETE, LLC	(2) TUI		` '	I GENERAL CTORS, INC
() indicates item is bid as	s Lump Sum	O mo	Unit Price	Ext Amount	PARTNEI Unit Price	RS, LLC Ext Amount	Unit Price	Ext Amount
SECTION: 00	001 (A	SPHALT RE	PAIR (MECHANIC	AL) (TN				
0005 0160 4 TYPE B STABILIZATION		750.000 SY	30.00000	22,500.00	10.00000	7,500.00	97.00000	72,750.00



Page 2 of 6

Florida Department of Transportation



Tabulation of Bids

Letting	g : 05240904	September 04,	2024 Ca	II Order: 002		Contract:	E52D1-R0	
	No / Item ID Alternation	te Quantity Units	(1) SPARKS CO	ONCRETE, LLC	(2) TUI INFRASTR	UCTURE		GENERAL TORS, INC
	licates item is bid as Lump Sum		Unit Price	Ext Amount	PARTNE Unit Price	RS, LLC Ext Amount	Unit Price	Ext Amount
	SECTION: 0001	(ASPHALT RE	PAIR (MECHANIC	AL) (TN				
0010 OPTION	0285709 IAL BASE, BASE GROUP 09	1,250.000 9 SY	70.00000	87,500.00	20.00000	25,000.00	157.00000	196,250.00
	0327 70 1 B EXISTING ASPHALT ENT, 1" AVG DEPTH	750.000 SY	3.00000	2,250.00	8.00000	6,000.00	7.25000	5,437.50
	0327 70 4 B EXISTING ASPHALT ENT, 3" AVG DEPTH	1,250.000 SY	6.00000	7,500.00	8.00000	10,000.00	15.90000	19,875.00
	0327 70 5 EXISTING ASPHALT ENT, 2" AVG DEPTH	1,600.000 SY	5.00000	8,000.00	8.00000	12,800.00	19.00000	30,400.00
	0327 70 6 EXISTING ASPHALT ENT, 1 1/2" AVG DEPTH	2,500.000 SY	4.00000	10,000.00	8.00000	20,000.00	18.00000	45,000.00
	0327 70 8 EXISTING ASPHALT ENT, 2 1/2" AVG DEPTH	1,350.000 SY	7.00000	9,450.00	8.00000	10,800.00	20.00000	27,000.00
	0327 70 11 B EXISTING ASPHALT ENT, 2 1/4" AVG DEPTH	5,000.000 SY	6.00000	30,000.00	8.00000	40,000.00	19.00000	95,000.00
	0334 153 PAVE ASPHALTIC CONCRI C C, PG76-22	250.000 ETE, TN	235.00000	58,750.00	300.00000	75,000.00	999.00000	249,750.00
	0334 1 55 PAVE ASPHALTIC CONCRI C E, PG76-22	50.000 ETE, TN	335.00000	16,750.00	300.00000	15,000.00	1,025.00000	51,250.00



Page 3 of 6

Florida Department of Transportation



Tabulation of Bids

Letting	g: 05	5240904	September 04,	2024 Cal	l Order: 002		Contract:	E52D1-R0	
	No / Item ID Description	Alternate	Quantity Units	(1) SPARKS CO	NCRETE, LLC	(2) TU INFRASTF	RUCTURE	(3) MASCI CONTRAC	GENERAL TORS, INC
	licates item is bi	d as Lump Sum	O.III.O	Unit Price	Ext Amount	PARTNE Unit Price	RS, LLC Ext Amount	Unit Price	Ext Amount
	SECTION:	0001	(ASPHALT REF	PAIR (MECHANIC	AL) (TN				
	0337 7 25 T CONCRETE E, INC BIT, FO	E FRICTION C-5, PG 76-22	350.000 TN	275.00000	96,250.00	450.00000	157,500.00	1,574.00000	550,900.00
	0337 7 82 _T CONCRETE E,TRAFFIC C,	E FRICTION FC-9.5, PG 76	150.000 TN -22	275.00000	41,250.00	350.00000	52,500.00	1,158.00000	173,700.00
	0337 783 T CONCRETE E,TRAFFIC C,	E FRICTION FC-12.5, PG 7	600.000 TN 6-22	275.00000	165,000.00	350.00000	210,000.00	1,180.00000	708,000.00
0070 LOOP A	0660 2102 SSEMBLY, F8	kI, TYPE B	8.000 AS	1,500.00000	12,000.00	1,500.00000	12,000.00	8,157.00000	65,256.00
0075 LOOP A	0660 2106 SSEMBLY, F8	kl, TYPE F	12.000 AS	2,000.00000	24,000.00	1,500.00000	18,000.00	8,955.00000	107,460.00
	12" FOR CRO	ΓANDARD, WH SSWALK AND	1,000.000 ITE, LF	4.00000	4,000.00	6.00000	6,000.00	28.58000	28,580.00
	24" FOR STOP	ΓANDARD, WH P LINE AND	50.000 ITE, LF	8.00000	400.00	20.00000	1,000.00	49.28000	2,464.00
0090 THERM ARROW		ΓANDARD, WH	100.000 ITE, EA	80.00000	8,000.00	100.00000	10,000.00	998.00000	99,800.00



Florida Department of Transportation



Tabulation of Bids

Page 4 of 6

Letting	j: 0524090	4 September 04,	2024 Ca	II Order: 002		Contract:	E52D1-R0	
	No / Item ID AI Description	ternate Quantity Units	(1) SPARKS CO	ONCRETE, LLC	(2) TU INFRASTF	RUCTURE		GENERAL TORS, INC
() ind	icates item is bid as Lum	p Sum	Unit Price	Ext Amount	PARTNE Unit Price	RS, LLC Ext Amount	Unit Price	Ext Amount
	SECTION: 0001	(ASPHALT REI	PAIR (MECHANIC	AL) (TN				
0095	E706 1 42	400.000	9.50000	3,800.00	10.00000	4,000.00	49.00000	19,600.00
MARKER	TIVE PAVEMENT R(REMOVE AND E)(CLASS B)	EA						
0100	E711 3 1	50.000	8.00000	400.00	100.00000	5,000.00	758.00000	37,900.00
	ENT MESSAGES IOPLASTIC)	SF						
0105	E711 11121	1,500.000	2.50000	3,750.00	6.00000	9,000.00	10.11000	15,165.00
THERMO SOLID, 6	OPLASTIC, STANDAF 5"	RD, WHITE, LF						
0110	E711 11141	1,500.000	2.50000	3,750.00	6.00000	9,000.00	12.15000	18,225.00
SKIP, 6"	OPLASTIC, STANDAF	RD, WHITE, LF						
0115	E711 11221	1,500.000	3.50000	5,250.00	6.00000	9,000.00	10.25000	15,375.00
	OPLASTIC, STANDAF V, SOLID, 6"	RD, LF						
0120	E711 11241	1,500.000	3.50000	5,250.00	6.00000	9,000.00	11.85000	17,775.00
	OPLASTIC, STANDAF V, SKIP, 6"	RD, LF						
0125	0425 5	12.000	1,200.00000	14,400.00	1,200.00000	14,400.00	5,800.00000	69,600.00
MANHO	LE, ADJUST	EA						
	0001 ASPHALT REP (MECHANICAL)		I	\$640,200.00		\$748,500.00		\$2,722,512.50



Florida Department of Transportation

09/12/2024

Tabulation of Bids

Page 5 of 6

Letting:	05240904	September 04,	, 2024 C	Call Order: 002		Contract:	E52D1-R0	
Line No / Item		te Quantity Units	(1) SPARKS (CONCRETE, LLC	• •	URTLE RUCTURE		CI GENERAL ACTORS, INC
•	is bid as Lump Sum		Unit Price	Ext Amount	PARTNI Unit Price	ERS, LLC Ext Amount	Unit Price	Ext Amount
	Contract G	Grand Totals:		\$640,200.00		\$748,500.00		2,722,512.50



Florida Department of Transportation

09/12/2024

Tabulation of Bids

Page 6 of 6

Letting: 05240904 September 04, 2024 **Call Order:** 002 **Contract:** E52D1-R0

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.